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, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers
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Note: Answer any FIVE full questions, ¢ ing one full question ffom each module.
&
1 a. Convert x=ab+bc to canonica (02 Marks)
b. Simplify G =f(w,Xx,y,z) rm and implement using NOR
(08 Marks)
c.
(10 Marks)
Mg ; (03 Marks)
b. 13, 15) + 3d(8, 9, 10, 11) in SOP form and
(07 Marks)
c inimization technique
13, 15) +2d(8, 10 (10 Marks)
Module-g oy
3 a 5 3,5); faa, b, ©) ﬁfﬁn(o 1, 6) using 8, 3:8 decoder.
& (06 Marks)
b. ith relevant expressions.
(10 Marks)
C. (04 Marks)

*a, b, ¢, d) = 2m(0, 1, 5, 6, 7, 10, 15)

hd (04 Marks)
Yexplain the kp{pﬁ interface using 74147, 10 line to BCD
(10 Marks)
ogic gates. (06 Marks)
ye odule-
ated SR latch with its truth Table. (06 Marks)
ouncer built using SR latch with the help of circuit and
waveforms. ¢ (08 Marks)
c. Obtain the characteristic €quations of JK flip flop and SR flip flop. (06 Marks)
OR
a. What is race aroung ¢ondition? How it can be overcome? (02 Marks)

y of MS-JK flip flop with logic symbol and timing diagram. (10 Marks)

c. Explain the King of +ve edge triggered D flip flop with the functional table. (08 Marks)
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Module-4
Explain the working of four bit ripple counter using +\%§ %ge triggered T flip-flops with the
counting sequence table and timing diagram. P (10 Marks)
Explain the SIPO and SISO operation of shift regi%f’%wnh relevant logic diagram and the
truth table. ¥/ (06 Marks)
Explain the operation of ring counter using lo 'a@%gram and truth table. (04 Marks)

oR) ,° R
Explain Universal Shift Register with thé, heif’ﬁ of logic diagram ands Gde control table.
" (10 Marks)
Realize a three-bit binary synchr%gm@g%p counter using JK %ﬁgﬂ()ps (10 Marks)

- ):3‘"\

%@%‘% Module-5
Construct a Mealy state dlagr  that will detect 1nput sequence 10110, when input pattern is
detected Z is asserted hgh Write the state diagram,£ ‘_ (10 Marks)
Demgn a synchronous ce;mter using T flip flgps,t6 count the sequence 0, 2, 3, 6, 5,
1.0, ... Write the e‘éé%atlon table and state dlgpgrax% and logic diagram. (10 Marks)

>, s ynchronous sequential circuit with the block

(08 Marks)

gram given in FigQl 0{b):
he exc1tat10n and outputiequations

(12 Marks)




